1.1.4 Notes

September 11, 2018

Warm Up

Pick up the Warm Up after
marking the HW Tally

have your graphing calculator out
Come up right now to check one out if needed.

(1) Find the slope of each line 4 b s —H
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N Ratc of Change and Slope
{ Not all graphs have the same x and y axis values

The graph shows the
altitude of an airplane as it
comes in for a landing. Find the

rate of change. fg
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3 De quadratic function| f(x) = 14x + 3x — 2 yo two binomial factors.
(note This is not an equation are just factoring)
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4., This time you will solve an equatio@ following quadratic equation using the
method of Factoring+Zero Product Property.

T Ho
Oxf= 1%? +_‘E|)%K _‘;)on 't forget to set the quadratic equation equal to zero first.
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K-8 10 =
Ceroo)e) = O
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o= (&xi?o\/(x* )

X42=0

Another method for solving quadratic equations is using the Quadratic Formula. This method is particularly
helpful for solving quadratic equations that are difficult or impossible to factor. Before using the Quadratic
Formula, the quadratic equation you want to solve must be in standard form (that is, written as a +bx+c=0).

In this form, a is the coefficient of the x?-term, b is the coefficient of the x-term, and ¢ is th ~b+ b2 —dac
constant term. The Quadratic Formula is stated at right. x= e

This formula gives two possible solutions for x. The two solutions are shown by the "+" symbol. This symbol
(read as "plus or minus") is shorthand notation that tells you to evaluate the expression twice: once using addition
and once using subtraction. Therefore, Quadratic Formula problems usually must be simplified twice to give:

t_—h+\jh2—4u<' (_—h—\/hz—-‘d('

2a 2a
Of course if Vb2 —dac equals zero, you will get the same result both times.

To solve x2 - 3x — 10 = 0 using the Quadratic Formula, substitute a = 1, b = -3, and ¢ = —10 into the formula, as
shown below, then simplify.

—(—3)&,’(—3)2—4“)(—10) 3+J49 3+7 . 3-7
= = = — ¢
5

2(1) 2 2 2

x=5o0orx=-2




1.1.4 Notes

September 11, 2018

QUO (WUetipns

a.

(=

| -34. Examine g(x) graphed at right. Homework Help &

Which x -values have points on the graph? That is, describe
the domain of g(x). Z /X 4 L}

. What are the possible outputs for g(x)? That is, what is the

range?

. Ricky thinks the range of g(x) is: —1,0, 1,2, and 3. Is he

correct? Why or why not?

. Draw a graph for another function with the same domain

and range as g(x).
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ﬂ(x) = 5 +2
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Heads up:

There will be random mid
chapter recording checks to
see if you are following the
guidelines listed on the top

of the HW Recording Sheet.
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Now open your own notes and solve
the following quadratic equation
using the infamous quadratic
equation.

Your friendly neighborhood MATH teacher hag
a few guggestiong for you !

@F:ﬁﬁi 4y + 3x ~2=0 0= I —3ni]
q= 14 v
b= 3
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HW is important
but, so are Warm Ups

do not work on "finishing” your
homework during class.
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how many intersections can two
parabolas have ?

TWO QLarodatt Fupctions
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o Be Several  methods to
Lind ttetsections

FCIH/TTN

GRAP'S tobles  Equations

RN

Situation

How can we find it using graphs?
How can we find it in tables?

How can we find it using equations?
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My ¢ — 13+

AL. L.;fa N V‘O‘@_(\‘_‘\ ‘

Do you have a sprial notebook for notes ?
separate folders for handouts ?

pens of a different color?

o

‘ 1 ... 46, 47bc, 48b, 49-52

1.....46, 47bc, 48b, 49-52




1.1.4 Notes

September 11, 2018

Sx—y =35 Cou\d Use
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If an approximate answer is needed, we
can also use a GDC, graphing display calculator

hy-u =%5 wey= -3
+aﬂ T ~x oK

_3S ~3s




